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/ arT—III

SOCIAL STUDIES/SOCIAL SCIENCE | wrefs sveaEa ATt o

Directions : Answer the following questions

by Selecting the correct/most appropriate
Options,

Why is the study of Social Science
‘scientific’?

(1) It comprises systematically
acquired verified knowledge.

(2) It helps its reader to study the
scientific society.

(8) It uses scientific
content.

(4) 1t fulfills the demand for calling
Social Studies as science.

terms in its

32. You have to depict the pro

of time a rural worker" Spgﬁds
as employed, underemployed and
unemployed in a year. Which one of the
following diagrammatic representatwns
would you select?

(1) Bar diagram

(2) Pie diagram

(3) Time-line diagram \

(4) Flow diagram .

Select the 'ﬁ;ost appropriate reason for

assessing students through art in
"Social Science subjects.

(1}'-It is a means to enjoy different
styles of expression depicted in the

33.

textbook. *

(2) It improves students’ artistic
ability.

(3) It makes it an enjoyable way of
evaluation.

(4) It provides an opportunity for
personal interpretation of concepts.
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34. Which one of the following projects on
'global warming' is based on secondary
sources? '

(1) A collage of pictures on global
warming

(2)

Interviews with elders living in an
arca on changes in weather

A graphicaj representation of
unanalyzed weather data collected
from meteorological office

A discussion based on the weather
changes mentioned in a book

(3)

(4)

35. A teacher provides some criteria to
students and asks them to assess their
projects on those bases. Which one of
the following assessment measures has
been adopted by the teacher?

(1) Formative assessment
(2) Peer assessment
(3) Self-assessment
(4) Summative assessment

36. What is the nomenclature change
suggested by the National Curriculum
Framework (NCF), 2005 for Civies?

(1) Geography

(2) History

(3) Social and Political Life
(4) Economics

37. Which value will you emphasize tl.‘ie
least in the upper pn,mary Social
Science classroom from ‘among the

following?
(1) Cooperation
(2) Competitiveness
(3) Scientific approach
(4) Equality
38. What is the purpose of summative
assessment of students?
(1) Assessing at the end of term

(2) Assessing during the class

(3) Assessing a project
(4) Assessing at the end of a lesson
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39, Suppose a teacher has to teach the . .
chapter, *The Cold Desert—Ladakh’ in Wﬁﬂmfaﬁ fgﬁ?ﬁﬁ 7
Class VII. Which one of the following At R
methods would be most appropriate? (1) T IRELL)
(1) Workshop method aar il
(2) Survey method () e a iy
(3) Case study method (3) et
(4) Regional method (4) &fra faf
40. Which one of the following methods 40. 3= grufE /W g aed/30e -
;:l. most relevant for the teaching of ’ 2 =R ¥ R Freffaa & ® wa-8 fly
istorical facts/historiography at the ifTE
Upper primary level? St &
(1) Map method (1) wwfer Ty
(2) Project method (2) gheErsHl farf
(3) Problem-solving method (3) m-mmﬂﬁ'ffﬁ
(4) Source method (4) @ra faf
41. The National Curriculum Framework o T
(NF?F). 2005 recommends that | 41. T4 W # wR@r (T _m?'-f‘ %0),
children’s school education must be 2005 # wegfi & AR El?fl’ﬁl -
linked with e Fraffaa 4 & e @9 e ed
{;J tt.:e annual examinations (1) =i wder - A
t 'd . s & - =
(2) the ou .Sl e school enmr ment (2) Fererer % &T@ STARTT
(3) the mainstream opinions j o, S
(4) the conditions of the school | f?ﬂ & % )
infrastructure - (4) foraneE el s wEE
44 gf; ey Yo tﬂﬁpﬂiﬁgg ihoicesb is Lo 42, Refif § @ fra fmey 91 @ @ TW
diagram? Y P wEH = Tl A A FFA 2
(1) Air pressure (1) =vgeET=
(2) Temperature . (2) mEE
(3) Rainfall o B (3) =t
(4) Humidity =~ - (4) amgan
43. In order to de%p an understanding _ : g
of demoeratic institutions, choose the | 43 Tiwaie wensl i wm = Rl A H
most appropriate curricular approach fer [E";”%”@_ T H B e 3 TR e
from the following. 9T =t g |
(1) Provide examples of realities along (1) arafas Rfe % qy sy Bf %
with ideal situation e TR
((32)) ;Dresc.;'ibe ideefj 1si'tuatim.m R (2) st fRufed =tz
{ ovide mainly nation eve
examples (3) T=H 9 | Uy IR B TR FE
(4) Introduce students to harsh (4) il % wEr ol RRE QA
realities witfera s
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44. In  which one of the following
languages, mathematician and
astronomer, Aryabhata wrote his book,
Aryabhatiyam?

(1) Prakrit
(2) Hindi
(3) Pali

(4) Sanskrit

45. Which one of the following Stupas is

marked as the place where the Buddha
preached his first message?

(1) Bodh Gaya
(2) Sarnath

(3) Sanchi

(4) Thotlakonda

. Which were the three dynasties
referred to as ‘Muvendar’ in Sangam
poems?

(1) The Cheras, the Palas and the

Rashtrakutas

(2) The Cholas, the Rashtrakutas,ma_

the Pandyas

(3) The Palas, the Gﬁml&g,. 'g;nd the

Pandyas

(4) The Cholaﬁ the Cheras and the
Pandyaa -

47. The ﬁampurwa bull, a polished stone

seulpture, now placed in Rashtrapati
Bhawan, was built during the reign of
which one of the following?

(1) The Pandyas
(2) The Mauryas

(3) The Cholas

44, i a1 wieRll wEwe 3 vy
o g fhefafas wme @ fe
el 27
(1) wd
(2) &

(3) wreht
(4) W

a5, TrfafEs U § 3 frg ok B 30 WE %
5 fufta Bn %, el g8 3 vEel SR IwRa
fezn wn?

(1) e
(2) |
(3) wi=h
(4) deeTrRrel

""'ww%f

q (1) =R, 9T, TEFe
(2) =, TEEE, 9IS
(3) U, =, TS
(4) o, =R, TS

47. tageEn & fien IopE OOw 9@ SRR W
e, T sm ol v B T R, T R
Tres e A s T o
(1) o=
(2) =W
(3)

(4) The Kushanas
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48. Who among the following propounded
the doctrine of Vishishtadvaita'™

(1) Allama Prabhu
(2) Shankara
(3) Ramanuja
(4) Basavanna

49. An archive is a place where

(1) remains of the buildings made of
stone and bricks found by
archaeologists are kept

(2) sculptures found in excavations are
kept

(3) historical manuscripts
documents are kept

(4) excavated bones of animals and
birds are kept

and

50. Which one of the following statements
is correct about the Veerashaiva
Movement  initiated during the
mid-twelfth century in Karnataka?

(1) It argued against Brahmanical
ideas about caste and treatment of
women.

(2) It was initiated by Namdev and his
companions.

(3) It focused on worship of Vitthala.
(4) It was against all fomsafntﬂallﬁm
but promoted idol worship. .

51. Consider the following two statements

A and B about ‘Bandagan’ in the early_
Delhi Sultanate and choose the correet |

answer :

A. ‘Bandagan’ were . special ‘slaves

purchased for miilitary service and

were trained with great care to hold

the most important political offices

in the kingdom.

B. ‘Bandagan’ were totally dependent

“upon their masters. So the Sultans

could not trust and rely upon
them.

(1) A is true and B is false

(2) A is false and B is true
(3) Both A and B are true

4

(4) Both A and B are false
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(1) Xuan Zang

(2) Vasco dg Gama

(3) Christo pher Columbuys
(4) Fa Xian

53. Which amonp |
Lo B the followi N
introduced Malayg] : flg dggtlastmg

script in its inscriptions?
(1) The Kushangag
(2) The Cholas

(3) The Cheras

(4) The Pandyas

54. The Revolt of Son :
gram S ;
took place because Sagma-h: 1900

(1) the peasants in Champaran
revolted against the indigo planters.

(2) -the_MUSlim traders in Benga - 3
against the unequal telmﬁf tm&
set by the British :

(3) the Patidar peasants of Gujarat
rebelled against the high land
revenue demand of the British

(4) the tribal groups in Assam reacted
against the colonial forest laws

55. The Simon Commission, sent by the
British tondia in 1927, was opposed
because
(1) it had only English educated Indian

representatives
(2) it had no Indian representative on
it

(3) it had very few Indian represen-
tatives as compared to the British

Indian  woman

(4) it had no
representative
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§6. Match the following : 56. Faaftas % ¥ A
IR
Movement/ Reformer AT [HTe s .
a SN e il
(@) Brahmo Samaj () Swami Vivekananda | g e A i) Fom e d
(b) Young Bengal ii) Savyvid Ahmad Kh o i) % &g fafamm feifa
Movement wt ST o o (<) qu'“'w (e z‘:{aﬁég -
(c) Ramakrishna {ifi) Henry Louis Vivian (@) yrefime S i
.Missxon | Derozio 1) a b C_ d
(d) Aligarh Movement (iv) Keshab Chandra i v i n
Sen d
(2 a b el
(1) a b c d iv iii i i
i W W @ - b e 4
a
e 5 4 4 W v
iv iii i i
(3] a b ¢ d (4 & b ‘c d
iii i iv i i i v m '
B 5 R .-l.
“; i ii' i?i 57, wige Tidar o Jg AR 3
_ uﬁiﬁ%%ﬁ%ﬁﬁ%ﬁﬁ&ﬁlgsz ke
57. Veteran  Gandhian leader Potti A W 37
Sriramulu went on hunger strike in 1 m
1952, demanding the formation of (1)
which of the following States? (31 ﬁm
1) Telangana
(2) Tamil Nadu ' e s
(3) Kerala » | ¥ 8 .

(4) Andhra Pradesh S8, FeEA-u-3 Sty W Al 6 ghad T ¥

58. Who among .the following was fomaedl ¥ A ¥ 97
an exponent of  the notion of —
Wahdat-i-deen” that * upholds the (1) =l g
essential oneness of all religions? (2) gewe el

(2) f'_Mt'iTtaJ-nmad Ali Jinnah
@) Maulana Azad
(4) Sayyid Ahmad Khan

(4) ¥R sew @l

59. WA F TN W W A R [ AN W
59. The main latitude that passes almost SLINE

halfway through India is (1) 311'5?‘%%‘@

(1) the Arctic Circle

(2) the Equator (2) e (frgE-am)

(3) the Tropic of Capricorn (3) @ (W)
(4) the Tropic of Cancer (4) =& (FH-3)
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60. Which one of the following defines

‘Earth Day?

(1) The days on which the days and
nights are equal all over the carth

(2) The motion of the earth around the
sun in its orbit

(3} The distances
longitudes

(#) The period of one rotation of the
earth around its axis

61. Match the following :

between the

Types of Vegetation Species of
Plants
(a] Tropical ran forest () Sundari
(bl Tropical deciduous forest (i) Babuool
(¢l Thorny bushes (ui) Mahogany
(d) Mangrove forest (vl 8al
(1) a b c d
iv i i i
(2) a b c d
mo v il i
(3) a b ¢ d
i ii v
4 a b e d
il i iv il

62. India's research stations named ‘Maitri’ |
and Dakshin Gangotri’ are located in |

which one of the following continents?
(1} Europe \ LS
(2) Australia 4 |
(3) Africa e
(4) Antarcticas, 4
63. Consi&{ the following two statements
A'and B about ocean currents and
choose the correct answer :
A. The warm ocean currents originate
near the Equator and move
towards the Poles.

B. The cold ocean currents carry
water from lower latitudes to higher

latitudes.
(1) Both A and B are false
(2) A is true and B is false
(3) Both A and B are true
(4) A is false and B is true
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62. ‘T i efi e’ A v % Wy g
- Treffes el § @ el S €7

(1) |
(2) srtefemn

(3) Tk
(4) e
63. mEErE el & wEy § 4R R mw 2R
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A & () wereriE g smerar %
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; 3 e ®
64. ‘Transhumance’ refers to 64. ‘FG T 1 sl F A0 HEIE
{1} urban to rural migration of labour (1) s it A i v
force during harvesting period : @' _ Hifm F fom, =g
(2) seasonal movement of people for (2) v R
their livelihood rferfrera
106 qEEE F Wl
(3) seasonal movement of people with (3) & e ?’a e A g .
their livestock in search of new wﬁ@-‘n’?@aﬁ"rﬁm
pastures - . (@) = ot 1 FgI et
(4) seasonal movement of wild animals
65, frefifan % W@ 18 T
65. Match the following : .
: et & TR e
Types of Rocks Examples . s #d (i) AT
(a) Intrusive igneous rocks (i Limegstore a) <8 S i‘ﬁ:’t (i) FGH Yl
(b) Extrusive igneous rocks (i) Sandstone (b) A ?ré (iid) AT
(c) Sedimentary rocks (iii) Basalt (© m ~ [ivj A
(d) Metamorphic rocks (iv) Granite (@) R W
M a b o d @ma b ¢ ¢
T O w17
@ a b c d @ a b < ¢
v i ii i v il 1 ,_!b ¢
@ a b ¢ d 3) a bg FHE"
i ii it iv i }%_ N _r_;m.
49 a b ¢ d @ st B ¢
iooi iv i g~ v 1

66. ‘Chinook’, a local wind, blows in w-hic_h

of the following regions? e 2
(1) The Pampas \ (1) WP
(2) The Velds . (2) ¥=
(3) The Prairies e (3) Dot
(4) The Savamzas (4) @M

67. Which on&gﬁﬁé"fo‘mwmg atmospheric

6 W i § @ e T e

Gv.m@mﬁﬂqﬁﬁﬁﬂﬁ—ﬁwmwﬁ

layers helps. ingradio transmission? aRe w27
(1) Thermosphere ) '
. [2) Stratosphere @ ' '
. (3) Troposphere '
' (4) Mesosphere ti)) :
68. Which one of the following is a variety . :
of ‘gold wrought™? 68. ‘gied wh' Frfafan # ¥ fredh = e R7
(1) Jute (1) s
(2) Silk (2) Rrew
(3) Cotton (3) Heil-a8
(4) Nylon (4) R
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69. Population densily refery lo

(1) the way in which pe

across the earth's

(2) the number of

unit area of the

(3) the number of
particular aren

(4) the number of
a specific time

ople are spread
surface

people living in 4
earth's surface
people living in A

People living during

70. Which one of the fq
used to take oyt
the surface of the

(1) Shaft mining

(2) Open-cast mining
(3) Quarrying

(4) Drilling

llowing methods is

mineralg lying near
earth?

71. Basket weaving’
which one of the
industry?

(1) Large scale
(2) Cooperative sector
(3) Small scale

(4) Joint sector

is an €xample of
following types of

72. Which one of the following statements

explain the decisions taken by “

him/her. ,
(2) In a monarchy, people ‘can raise
questions _about. the decisions

taken by the monarch.

(3) In a monarchy, people cannot
question the decisions taken by the
monarch.

(4) The final decision-making power
lies with the monarch.

73. On which one of the following rivers is
Krishna Raja Sagar Dam constructed?
(1) Kaveri
(2) Mahanadi
(3) Godavari

(4) Krishna
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(1) ¥-98 W @ % e &1 =E

(2) 9e % 78 % wF T 4 A e A

(3) foeht & forgm & v =@ A A wEA
(4) v fafTea safa ¥ 2w Sl A den

70. 9=t # waw % FEe fEm afE = am
frem % fom frefafan 4 A fea ffa =
v fam s &Y

(1) F7H =
(2) femm =
(3) v
(4) FTH

71. 7m F frefefae g 4 @
e v 3eE R7 i
CUE LT S N
(2) wEFH 23,
(3), 9 TR

(@ dgnaa

. gnf

| 72, T ¥ vl # freffas o § ¥ A

about monarchy is incorrect? o
(1) The monarch does not have -to'.i"

T A 27

(1) wFmme g e o fofal @ awEme S
TEF 2 F) Srevawa T8 Bl 21

(2) T # R g e e Rk w
AN I 33T Y B

(3) armE # ae T T o Pl w
A T T W wE R

(4) sfm Frfa 3 € ofs TR § BRe
LIl
73. T TS AR 9y Feafafsa R § @ feg w
A T )7
(1) =eah
(2) mEME
(3) TEEh
(4) F=n
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74. The Hindu Succession Amendment

75. Who among the following national

76. Consider the following two statements

Act, 2005 provides an equal share in
the deceased father’s property to

(1) wife, daughter(s) and sister(s)

(2) daughter(s), son(s) and brather(s)
(3) wife, son(s) and daughter(s)

(4) wife, son(s) and brother(s)

74.

iR Aqie AfufEm, 2005 g
Emiiﬁ gt § @ wiftrwr WaH FA B
(1) Teh, ph/afr w1 =E/FE
(2) gh/gfeE, /3 A s /vl
(3) weh, g3/ T Tvﬂ/qﬁwﬂ a-fr
(4) Th, g3/ q T3 /WTEl

e s 1 e R 3 e, e

leaders coined the phrase Unity in | > ) Jarsit § @ frma Temn?
Diversity’ to describe the Indian e e i
Nation-State? (1) = T T
(1) Bal Gangadhar Tilak (2) HETeHT it
(2) Mahatm i -
) atma Gandhi (3) T TG T

(3) Sardar Vallabhbhai Patel
(4) Pandit Jawaharlal Nehru

A and B about the functions of

Janapad Panchayat and choose the

correct answer :

A. The Janapad Panchayat makes
developmental plans at district
level.

B. The Janapad Panchayat helps

76.

Zila Parishad to regulate money |

distribution Gram
Panchayats.
(1) Both A and B are false

(2) A is true and B is false

among

(4) uffEn AR TEE

s e & % o A Free @
Fol A 3ik B 7 famm Hifs angel sm
A Az GeEE Taen ww W EE deeEd
B. Y8 §9@a, MW TEEE % §EF O faa
frfim o # fren g B FEEE
T

":[1'-*1 ‘A s B 21 e €

(2) Awéle R B TEm 2
(3) A7 & 3 B wél &

(3) A is false and B is n-ag (4) A 3R B34 gft &
(4) Both A and B are true S
77. Consider the mloﬁﬁf_@g two statements [ 77 T T S b 2
A and B on'the Right to Information T A B R R A T v s
w4 Hifs

(RTI) Act and ‘'choose the correct
A. _ Tﬁmugh the RTI Act, a citizen can

A. gEm w1 after afbfem ¥ qram 3§ w5
A Tl Faw = wEn ¥ fawwi B

get information pertaining to the Frimeh % §

working of the departments of the ¥ Ee & AT R S FHe

Central Government only. B. g # wibwn sfufm & spta TEn
W T % fore w8 fet v 3 el

B. To get information under the Right
to Information Act, a citizen has to
first file a petition in any court of
any level.

;ﬂmﬁwﬁé?ﬁmmwm
l

(1) A 3R B3 Tom #

(1) Both A and B are false
(2) A is true and B is false
(3) A is false and B is true
(4) Both A and B are true

P-1I/M

(2) A¥®HE 3K B Tew 3
(3) AT ® 3 B wé }
(4) A 3ir B3 d &

38

Scanned by CamScanner



78. Who among the follong was the

writer of the story, Sultana’s Dream?
(1) Pandita Ramaba;

(2) Rokeya Sakhawat Hussain
(3) Mumtaz Al

(4) Rashsundari Devi

79. Who among the
book, Gulamgiri

(1) Dr. B. R. Ambedkar
(2) E. V. Ramasamy Periyar
(3) Jyotirao Phule

following wrote the

(4) Shri Narayan Gury

80. In the context of |

ndian judici
appellate systern me B

ans

(1) that one can plead one’s case in the
court without having a degree in
law

(2) separation of power among the

legislature, executive and judiciary

the decisions made by the’ higher

courts are binding on the lower
courts

(3)

(4) one can move to a higher court if
one feels that the judgement of the

lower court is not just

81. The executive organ of the S‘tatc ‘gef‘m’s 1

to

(1) every cmzen, of
exercising universal

?ﬁle' c‘OuntJy
'adult franchise
(2) the elected representatives
(3) a m;o@;tp ‘of people responsible for

implementing laws and running the
government

(4) the judges of the Supreme Court
and High Courts
82. Article 22 of the Constitution ensures

(1) Right not to be ill-treated during
arrest or while in custody

(2) Right to Constitutional Remedies
(3) Right against Exploitation
(4) Right to Education

P-1I/M
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78, GedET F @ THE FEA H Aaw v Y
F ofi?

(1) ufvza @
(2) ¥ warEd gh
(3) g 3Teh
(4) TegEd 3=
79, gemwi e geen T A e o
(1) o o 3o I
(2) 3o dite T AT
(3) “Afewa g
(4) A TRES T
80. widlg =iy wEew & wed H arfie
e #1999 ?

(1) #E o o we w, foen el st Bl
¥, e § 959 Bl € o

(@) R, s SR R,
fra uiwdl & deam .

(3):%33431?&?’(%%%3?3@@
o A

ﬂjlm?ﬂﬁﬁ R e w3 B P
e e T e w@ A R, @
" © W I A e §osrdie FOwEd
P

81, GTHR F FETeH I ¥ ARwE B

(1) ¥ 1 YT A, S aEiE
HATRERR %1 3990 FE B
(2) Feifem v

(@) St T, S B aw w
O IeE % fe e @
(4) IoIW AAERE TN I e %
iRt
82. HiIuM 1 sEeSe 22 FHTEE F B

(1) Prear % <rm o fewg § gofaem A
a9 71 ARG

(2) dawfen svEr = s
(3) irem 3 forwg stfirrm
(4) Tsn =1 srfvew
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83. Who among the following is the leader
of the ruling party in Lok Sabha?

(1) The Vice President
(2) The President
(3) The Prime Minister
(4) The Speaker
84. Consider the statements A, Band C on
the nature of Social Science at the
upper primary stage :
A. It is a study of people in their
environment,
It is a study of relations among
people and their interdependence.
It is a study of the past and its
relation to the present.
Select the most appropriate choice
from the above statements.
(1) A, B and C
(2) A and B
(3) B and C
(4) A and C

B.

€.

85. Social and Political Life textbooks at
the wupper primary level cover |
content related to which of the

following subjects?
(1) International Relations
(2) Psychology
(3) Economics
(4) Philosophy

86. Why would ydu as;.k g’uestmns on
historical ation? Choose the

most -gpp!vomﬁaﬂe option from the
following.
(1) It f§=i fun-way to remember dates

and events.
(2) It shows how historians fill gaps in
history with their imagination.
(3) It encourages comparison of the
present with the past.

83, di g § G T F O TS

g 47
(1) 39-gafa
(2) wgafd
(3) WerREl
(4) AR
mmﬂﬂﬁﬁi‘lﬁ%ﬁmq{
A, Bm:ﬁfitz:ﬁmﬁwﬁﬁm
A. wmwﬁmmaw%
oA
'C.%aﬁﬂaﬁiaﬁﬁﬁﬂ?mﬂ'éﬁ%ﬁm
Sechd |
m@ﬁmﬁﬁﬂwﬁﬁaﬁaﬁwmm
Hie|
(1) A, B3RC
(2) A3B
(3) BIRC
(4) A3 C
85. ﬁmﬁm@%wﬁa@mﬁasﬂm
mm- ) @ Pt el @ R

¥ o i

84.

(2) wAfeEm

(3) e

(4) ST

86. 9 el e W wE = @

frferfes % @ weit sfvm T =1 gfwy

(1) =& fafy i w=mett 1 1= @ 5 =%
e B

(2) 7= i ® B sfmren shew @ owh
O % WY FH A QA R

(3) F& FAHH F I WAy g w@ A
MeaEd T & |
(4) TR w6l B urEEA et £ dve

(4) It evaluates a student’s ability to
identify sources.
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87. Why would yeay lise
Science teaching?

appropriate reasq P ;
options. n from  the given
(1) Te  ensure
t
Sotiiletag hat  syllabys i

(2] To sensitize st

can find appr udents so that they

opriate role models
(3) To entertain angd enliven g class

(4) To link €oncepts to live realities
88. According to the

(20.06), the teachi-ng of Soei
losing Popularity a5

[1) it Presents sev
conflict in hyum

Nationa] Focus Group

al Science is

.et"'a'l Situations of
: an values

it lays too much
scientific tempe

(2
) emphasis upon

rament

it is considered as

subject

3
(3) a non-utilitarian

(4) it encourages many ki
study Y subjects of

89. Which one of the given cheices s an
incorrect description of Bdfwﬁl»b
assessment? school-based

(1) It covers only co-curriculfa.r-.'éggggts,
(2) It covers scholastic aspeéi;_s.m

(3) It covers non-scholastic aspectsgs
-

-

(4) It covers all aspects.

90. Consider the following two Statements
A and B on .a teacher’s role in
transacting a Somﬁ%g;&hce topic and
select the correct answer :

A. The teacher must ensure the

‘ of all students and conduct
“discussions with sensitivity.

B. The teacher must focus upon facts
with the boys and the feelings of
the girls.

(1) Neither A nor B

(2) Only A

(3) Only B

._|F

87. i fagm fgm 3 faw, s e = wdm
= A7 fou mu fawed 7R wEw 3fEa Fmm

=t gfm)

(1) wragen ) goia @ g

(2) feenfidi # doemiie =0 w5 fd 3
fera srred @ g FOEE

(3) H4 F A UE WA 1 FH
(4) smumonal 1 wha s % @
Hrg T
B s ke
(1) =% A 5o 8§ sraray B g Rk
W A ©
(2) 7% s A gwm woEw A
(3) %@Wﬁw%mﬁmm}
(4) e = fawdt 3% e 1 st wn @
89. freferfaa & & Hﬁﬂ:a{,%ﬁfﬁw-mmﬁﬂ
(1) 7% S ) e ) W e R
) T A R R
o (3), 7 Wi vl = wiERe w5 R
Y (4) == T va F giEtad S R

90. = s w1 gt o % fawg ) dufg
F i yfim w Fefafaa A 3 B #7961 w
e Hifom o vl S F 9EA R

A. Tosm i Tl 6t wfon = e
g =t et S3ewfiem & my == =

& W |
B. fogs @l % g wal o wehmEl
YEISA W a9 59 9 |

() FANASRIAB
(2) %ad A

(3) *=@ B

(4) @HI A 3R B

(4) Both A and B
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